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Full Marks — 80
Pass Marks — 32
Time — Three hours ,
The figures in the margin indicate full marks
» for the questions.
1. Answer the following Multiple-Choice quesﬁons :
1x6=6

(a) Excess of paid up value of shares over
actual cost of investment in Subsidiary
company is treated by Holding company as

(i) Goodwill (11) Mmonty Interest

(iiij Cépital Reserve. (iv) None of these
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O Accomﬁng. Standard AS~I4‘ deals with the | (e) In order of payment by the liquidator, which
@ Valﬁaﬁon of Share - | | of the following has to be paid first ?
(if) 'ﬁolqmg COmpany B @ Legal expenses
_ ,(iii) A.malgamatioﬁ ‘ ‘ (ii) .Liquidator’s remuneration
(iv)'v Liquidation of C°m§vanies‘ (iii) Liquidation expenses
(iv) Preference shareholders -

.'(c) If the Transferee company pald th
€

o hquldatlon eXpenses it i 1s debued to o v(t)A In the Balance Sheet of the company, shares

@) - Goodwill Aocount - are appeared ot
) (ii) Capltal Reserve*Aot:ount’ @ Paid up value '
L i) Market value -
- (ii) General Reserve Account ® o . L
o (iii) Both (i) and (ii) o
- (IV) Reahsatlon Account : '

- o . (iv) None of the gbove
"(.d)' Statqment prepared by the Liquidator, j, | PO
- case of Voluntary winding up is Called.’ o 2. Answer the following questions : |
‘What is Pre-acqulsmon proﬁt in Holdmg
company accounting 7

2x5=10

() Winding up Statement A . | . @

(i) Liquidator’s Statement of Ac
» ) o count (b) What do you mean by secured creditors in
(iif) Official Financial Statement " liquidation of company ?

- (iv) Liquidator Account - . - }' (c) State any two characteristics of Goodwill.




e ———
- (@) What is Purchase consideration 2 . (h) Following is the Balance Sheet of Gupta &
- (&) What is Intrinsic valye of héré o Co. Ltd. as on 31-12-2021: -
3 ' ; : S ; Particulars ' - Amounts
) Answcr anyf l\{e Of'the fOllOWing qﬁéstions . | - T
. S 6x5=30 Liabilities : -
l ~ (a) - Differentiate betwee ' | 800 10% Pref. shares of : )
_ . , N the ‘A . . . .
" the nature of Merger® oo . Amalgamation i g 100 each 80,000
, SRR MVRtger” and ‘Amalgamation in :
the natute of Purchage’_ 6 12,000 Equity shares of .
: S el , v 10 each y 1,20,000
(®) Explain some of (e advantages of ? : 4 o A
- amalgamation, . 2 Bills Payable | 10,000
| : : ‘ | Credi | 30,000
. | .(9) - What is Consolidated financial statement and |- Creditors . |
E : what are its. components 9 244=6 ; | ‘ 2,40,000
f : (d)u‘ cemtm;s ‘Minority interesp in Holding | Assets : , ‘
| PR dccounting 7 e | Fixed Asses | 1,44000
© Esplain the Voluntary Winging up of the Curent Assets L | 96,000
Lpany. 6 2,40,000
(® Who i it C | ‘
-funcﬁ;;? ;‘ lq‘md?tor and what are his Market value of fixed assets is estimated to
1ctions in ql}ldahon of company ? 2+4=6 | be 15% more than its Book value and the
(8) What are the advanta e Market value of current assets is estimated
company ? | ges of Holding - to be 10% less than Book value. There is an
6 unrecorded liability of ¥ 2,000. Find the
value of each Equity share under Net assets
'S ‘ SR method of valuation of share.
: 74/63/2 (SEM-4
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'.- 4. - o ) v
| Ansywr any fwo qf the following questions :
. : , © 0 10x2=20

@ Wheg valuation of share is
|© .. Explinthe Yield based method of
S of share. - -

. eqlﬁl’ed 2 |
method of valuation -
®) B o 5+5=10
| oro Company Lt : o
" liquidation on'31-3 went into voluntary

o -2022. On

- dividend On'Preferen ce s S'tvl::r :é.lrle da::
for 3 years. Following are thé'infm arre?
related to the °0ﬁlpdny R ormation

* Share Capital: _

¥ 100 each, z50 pér "

. Preference shares ofés°’°00,'6,ooo, 6%

|  Liabilities D
‘Secured Loﬁg against machlnery 60000
) Unsecured qeditom ¥ 140,000 o
Bills Payable 7 80,000
Preferenﬁél-, Ec'reditors ? ‘i6,2do. |
~ Assets realised :
: o 'Machin'ery% 1,40,000
,, ‘ Other Assets g 6,88,000.
74632 (SEM-4)MCO 405 (ABC) (6)

up z 6,00,0(10‘ e 100 each fully paid :

.Liquidation expenses g 6,000 and legal
expenses ¥ 2,000. Liquidator is entitled to -
remuneration of  24,000. The liquidator is
also entitled to the commission at 5% on the .
total amount paid to the Preférence
shareholders as capital and dividend, and
5% on the amount of assets realized and the
amount collected from the Equity
shareholders. C L ~

(c) Narzary Ltd. agrees to take over the business
" of Boro Ltd. as on 31-12-2021: The Balance
" sheet of Boro Ltd. as on 31-12-2021 was as

follows :
Boro Ltd. o
- Balance Sheet as at 31-3-2021 -
Lisbilities | Amount Q)
Equity Share Capital . | - 300,000
(30,000 Equity shares of ;
z10 each) . |
Statutory Reserves 60,000 -
| General Reserves 25,000 . 85,000
| 6% Debentuces 50,000
Creditors 15,000
| | 4,50,000
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, : -~ | 5.  Answer any one of the following questions :
{ ] - — Asser Amount )| ' ‘ .  14x1=14
q,f Land & Building ,75-&)’0' B o - o
d » » 2,75, » (a) What is Goodwill ? What are the factors that
L | Stock - | 20?0-0 | affect the Value of goodwill ? Explain the
o |Debtors .~ .. . | methods of valuation of goodwill.
Cash 30,000 : - 2+4+8=14
- 35000 [ 1,75,000) | ~ | .
g A (b) X Ltd. acquires 3,200 ordinary shares of
. — 4,50,000 | % 10 each of Y Ltd. on July 1, 2020. On
Addmonal Informﬂtions . December 31, 2020 the summarized Balance
o | ® Ithe Consideration g diécﬁar ged by | sheet of the two companies were as follows :
N | . :rzary Ltd. by a cash payments of € 1 Liabilities | X Ltd.] Y Ltd.[Assets | XLtd| YLtd
v . . T . . A -
% ZS Ogga::arm Boro Ltd, and issue of . N ¢ ‘ )T
i ’ es of g 10 4 “api j14,00,000 |Land &
E Narzary Ltq cach fully paid, I | | Coptal 1000000 O indings | 3,00,000[3,60,000
i ) _ at a Premium of 7 5 ea ch (Shares of ¥ 100 g 1
! < (i) 6% Deb ' o , each fully paid , Plant &
L i €bentures .of Boro Ltd. were | |* S Machinery | 4,80,000{2,70,000
g | Charged at 59 . : |
i . o Pre; : ; ,00,000 {1 tment
of 5% Debéntureg l:u;m by the 1551:: Reserves 4,80,000 {2 e
par. . arzary Ltd. ' Profit & Loss A/c| 1,14,400[1,64,000 Jat cost 6,80,000

. - Inventories| 2,40,000] 72,800

- axs3 \  |Bank 60,000 Trade
47,500 and 4 er":ss :::go, debtors at | [PenkOverdmt |l  receivables| 1,19,600| 80,000
s % e
Gi at book valucs6 Trade Payable 94,200 34,800 Cash 29,000| 16,000
, Ve jou - : .
o N arZa:y !iralal entries in the pooks Of lisa8,600(7.98,800| *  |18,48,60017,98,800
: Sheet after o ".>0 Show the Balance |
N T amalgamation,
74/63/2 (SEM-4) MC0 495 ABC) | : | 74/63/2 (SEM-4) MCO 405 (A,B,C)  (9)  [Tumn over
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| "800

~ The Profit & Loss Ac
a creds s
2020 otu?il;n ce.of? 60,000 on 1st January: |
paid on lstv ;v hich a\di"id,end of 10% was. |
| dividehdvl'- ‘ ‘-lly > A Ltd. has credited th®
’ Accbuni VTE::;,ed 10 its. Profit and LosS
T lant . Ly
at ¥ 3,00,000 & Machinery which st00?

. on )
considered a5 wen. < ZUATY 2020 W

2020; These f
L gure Y

while consolidating ih?e to be considered
rate of depreciation 0 n

is 10%, Plant and Machine!y

Prepafe a COHSO.li. ,
December 31, 2020, 4 Balance sheet as 0%

200

count of Y Ltd. shows |

worth ¥ 3,60,000 on 1st Jul¥> |

Balan_ce sheets. The.

~ (Theory Paper)
Paper Code : MCO 405 (B)

(Industrial Relation and Labour Laws)

Full Marks — 80
Pass Marks — 32

Time — Three hours

The figures in the margin indicate full marks

for. the questions.

1. Answer as per direction given below :  1x6=6

@

()

74/63/2 (SEM-4) MCO 405 (A,B,C) (11)

Which of the following is not a machinery
for settlement of Industrial Disputes under
the Industrial Disputes Act, 1947 ?

(i) Conciliation officer

(i) Board of conciliation

(iii) Arbitration

(iv) Trade union
Which of the following is not a party to .
Industrial Relation ?
(i) Employees

(iii) Court

(ii) Employers
(iv) Government

[Turn over




(c) Gherao isa form of
(i).' Unfair trade practices
(ii) Unfair labour practices -
- (iii) Industrial disputes
/ | (i) Coercion
| (d) Lok adalat has been g:iven status

; under the Legal Service _
. : S . e
W 1987. (Fill in the blank) Authorities Act

(e) The basic objective of
at an agreement between th

and the employees dete

beneficial terms and
blank), con

ditions (Fill in the

® -;ll‘lgfe‘fltenil{g Workmen with discharge O
. . missal if they Join a-Trade upjon is a8
: example of unfair laboyy '

_; N | or false).

e

Answer the following questiops in brief :

o =10
(a) Statev two objectives of Collective barz:iiing‘

(b) Why do workers join a Trade Unjon ?

(c) What is compulsory arbitration ?

‘  74/632 (SEM4)MCO 405 ABC) (19 |

is to arrive |
e management '}
rmining mutually

Practice (State tru€

(d) Name 3 pillars of Trade Union.
(¢) What is Standing order ? |

3. Answer any six from the following questions.
o ‘ 5x6=30
(a) Write a short note on “Principles of Natural
Justice™. ' ’

(b) Discuss briefly the problems faced by the
Indian Trade Unions. ‘

(c) Write a note on the Unitary approach in
" Industrial Relations.

(d) Discuss briefly about the dynamics of
Industrial conflicts.

" (¢) Whois a Conciliation officer ? State the role
of Conciliation officer.

() Point out the functions of “Code of ‘
discipline”. o A
(g) State the matters that come within the

' jurisdiction of an Industrial Tribunal under
Sec. 7A of Industrial Disputes Act, 1947.

(h) Write briefly about “Unfair Labour Practice.”

() Discuss the role of Lok Adalat in Dispute
Resolution.
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4. Answer any wo questions from the following : | F(Theory Paper)

- 10x2=20 Paper Code : VMCO 405 (C)
(a) Discuss the various strategies of Collective (Global Trade and Finance)
Bargaining, ' 10 Full Marks — 80
(b) Discuss the impact of technological changes : Pass Marks — 32
on Trade union, 10 | i Time — Three hours
(c) What is., Joint Manag‘ement Council ? State The figures in the margin indicate full marks
the salient features of Joint Management for the questions.
Council. 5 10 ‘
2+8— 1. Choose the Con"ect anSWerS 2 1X6=6
5. Answer any one question from the below : (a) ‘Globél trade’ and ‘Domestic trade’ differs
14x1=14 because of
(a) Discuss the various rojeg and rights of Trad (i) ~different Government policies
Sy \ s of Trade
Union in India 7 7+7=14 (ii) trade restrictions
(b) Discuss the major causes OfIn&usﬁial disputes (iii) smmobility of factors
e
in .;u:‘ha and also explajn the machinery (iv) All of the above
avai ab.le for resolving them under the of DGFT is
industrial Disputes Act, 1947 =14 oy, e 1AL ; .
? 7+7=1 @) Diplomatic General of Foreign Trading
(ii) Diplomatic Group of Foreign Trade
(iii) Directorate General of Foreign Trade
(iv) Directorate General of Forex Trading.
74/63/2 (SEM-4) MCO 405 (AR é) a 74/63/2 (SEM-4) MCO 405 (AB,C) (15)  [Turnover
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'(c) Ad
4 :
Cument jssued by a bank g |
uaranteeing |

DPayment ¢,
ot corre0 a seller to be recejved on time |
Ct amount of trade is calied |

() Banker’s draf
(iii) Cheque

(ii) Letter of Credit

(d)  Which of - (V) Bl of exchange
mainly de t;le-following ﬁnaHCial instituti {
als In financing Globa] 1tution

(iii) RBI

(i) SBI

(e) (i) Union Bank

than itg rivals is called

(1) Hybrid Financing
(11) Competitive Advantage
(.111) Financia] Collaboration
(iv) Market Advantage

arante
® Corporation of India

C
e Vet to Indian
€ trade rigks

74/63/2
(SEM-4) MCO 405 (4 C
vl (16)

VAPOIters againg

200

et |
ter or more cheaply |

(ii) Export Factoring Facility for MSME
sectors dealing with overseas

ent types of credit insurance

(iii) Differ
banks and other financial

covers to
institutions.
(iv) All of these

Answer the following questions :  2x5=10

What is Foreign trade policy ?

(a)
at are ‘Shipping bill’ and ‘Bill of lading’?

(b)
(©
(d)
- (e

Wh
Mention any

What do you mean by

needs of pre-shipment finance.
Hybrid Financing ?°

What is Export processing Zone ?

Answer any six of the following questions :
: 5x6=30

State the commerical documents required

(a)
for Carrying out impoﬁ trade. 5
(b) Briefly elaborate the factors determining
global trade financing. 5
(c) Explain in prief, the various types of hybrid
S

 financing strategies-

0 405 (AB:C) (17)  [Turn over
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one of the followmg questl

- Export b .
bill purchase .?| 5. Answer any 14x1 14

' 243= ' | d needs to be
« ods to abroad needs to. DS
@ Exf’omng l stematic procedures”.

Institutjoy |
provide shipment ﬁnance oS Whlcg . followed some Szd es involved in export
 Elaborate the procecu” 14

® gtlftte :hecfunctlons of EXport Credit
arantee Co redit de. ' | ‘ |
~ ~orporation o of India, 5 o shlpment finance ? Brieﬂy -
e-

¢) Explain the i
(8) XP-. 71 the role _Of ®) What. lsthl;rvanous forms - of pre-shipment
" explain the V&r  2+12=14

- (e) Briefly explam any ﬁve

®) Whatis Market expangiey - | financ®
e lmportance ofmark ansxoiy ? State
, strategy.
243=5

O 'Elaborate how Expo It Coun
- | are promotmg export ﬁOm Inl]s and Boards

: (a)_ Sfate the objectives of Indla’s F
-pohcy. o Oregin trade

o (c) What is Logistic financip 0
| . challenges of logistic fina

I promotxon of export in Indj, ncmg for the
- 200

B0 (19

74/63/2 (SEM-4) MCO 405 (A,B Xo)) a 8)




@

()

(e)

- (iv) Market AdVantage

(iii) Cheque .
(i) Bill of exchange |

Which of the '
: € follow;
. : lowing financia] institution

() Hybrid Financing
(ii) Competitive Advé.nta
o0 . . A | ge
(iii) Financia] Collaborgg;
on

Export Credit Gu tee ¢

C . C ' |
(ECGC) provides TPoration of [ndia

1‘6 ) | 200

(i) Export Factoring Facility’ for MSME
sectors dealing with overseas

(iii) Different ‘types of credit insurance
covers to banks and other financial -

‘ institutions.
(iv) All of these

2. Answer the following questions : 2x5=10

(a) What is Foreign trade policy ?
What are ‘Shipping bill’ and ‘Bill of lading";_?

(b)
(c) Me
(d) What do

. (e) Wﬁat is Export processing zone ?

ntion any needs of pré-shipment finance.

you mean by Hybrid Financing ?

ix of the following questions :

3. Answer any s
. 5%x6=30

State the commerical documents. require d
for carrying out import trade. 5

(b) Briefly elaborate
global trade ﬁr;ancing.

in brief, the various types of hybrid
S

(a)

the factors determining
5

(c) Explain
_ financing strategies-
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